B ERii

DICK CISCO

18 7 ERil]

DICK CISCO
k. RS R LR X L iRs S tEAE

BBig. 0755-89632950 0755-89632951 iﬁﬂ“fﬁiﬂﬁ%ﬁﬂiﬁliaﬁﬂﬁﬂa

€’ . 0755-89632953
Http://www.dikesike.com SHEN ZHEN DICK CISCO TECHNOLOGY CO..LTD



BT ERi

HB& Catalogue contents

Y E 3/1 E 3 (GB1) FaERa=mEssai
SERIES SUPER PREMIUM EFFICIENCY THREE-PHASE ASYNCHROMNOUS MOTOR

YES3 IE3
¢|E3(GB14){Si% kA 1E3 DESIGNATION 2
oFE RS TECHNICAL DATA 3
o ZH K IME R T MOUNTING AND OVERALL DIMENSIONS 4
HEBIL+FR—EF A TENNEL, Ehe
W, BB RMGEE, FlRAREHEHZLEEH %ﬁﬁm R TURE EXELOBED i 5

MERABBI, FaTUFmiEEmER.
IEERPETWRRKELMBEIU ZRIIE, X E
T HEFERBmGM, EMHBEERALIKE —
AKhth, AMEREMRSFERILE KT, BB
MFEEB/ILTEHSEINEZEMET AR, 5lHEIKEH
MEFIZREREFE, EFEXENFNEFOLZ—/

YEJ

D C ) 2 6 & 1 i 8

GENERALIZATION OF DC BRAKE MOTOR

YEJD

Rl AEFEM, T E&HALBmEIEEZSE, I o 45 B AME R ~F MOUNTING AND OVERALL DIMENSIONS 10
ITHRES, £F8ES. RRBRE, XEMRYNE
ShiEO, RIEFREITEE. BRE. %, o R M2 R <t MOUNTING AND OVERALL DIMENSIONS 11

FEFRY2-YE3IRF=HRLTHEIHI, YDRTF
TS E=HRFTEIFI, YEJRZF (DC) Hikk.
(AC) ZXRHIZI =ZtHHR T HEIYNTIHM=—H=ZEHED
BEl.

HEEYE—MBEERN AL RER, SRE.
=iE%E. KeEFE, MBI, Bk EshBam.

A CHl &h e8 &h #1 #% i% 19

GENERALIZATION OF AC BRAKE MOTOR

YEJA

o 3 REB¥ TECHNICAL DATA 15
o Z3E N SME R < MOUNTING AND OVERALL DIMENSIONS 16

RSB

INTEGRAL VARIABLE FREQUENCY MOTOR
o 14 EE 21 4E PERFORMANCE DATA

YVPRIZMFEE A= HR LB

YVF SERIES FREQUENCY-SPECIFIC THREE PHASE INDUCTION MOTOR

o tf BE BB PERFORMANCE DATA 18
o AT AN R < MOUNTING AND OVERALL DIMENSIONS

Ysll E 1 EFEEIéEET*EH-;#EEEH?E?IﬂUETIDN MOTOR

¢|E1{£L E1%AH 1E1 DESIGNATION 20
o RKE¥ TECHNICALDATA 21
e T FAME R~ MOUNTING AND OVERALL DIMENSIONS

Http://www.dikesike.com



YE3/IE3(GB1) B S ERi YE3/IE3(GB1) [SOMT=-1::11).

B Y E3/1E 3 (GB1) Fueng=mssanil

>>> IE3(GB14){X =i |E3 DESIGNATION

YE3 112M-4 YE3 200L-2
LN 2L
No.of poles No.of poles
oI E HOIKE
Core length Core length
fEE S fEES
Frame size Frame size
IE3(GB 14 gE®) IE3(GB14gE)
SNBSS SIS
Efficient motor Code Efficient motor Code

PEIREE 48 MOTORIDENTIFICATION SYMBOL 2#)1 AT COOLING METHOD

|IP-5-5 IC-411
B M ik

Splashpeoof i
"""""""""""""" EHABBESIU
& Totslly—enclosed fan—-cooled type

Protecting against dust = :

" Efr<HiE
EREIPERAEFE Intermational cooling symbol

International protection symbaol

Http://www.dikesike.com Http://www.dikesike.com




YE3/IE3(cB1) @ iBsSERii

>>> BASE TECHNICAL DATA

Ll e _ .

SPEED 3000RPM 2-POLE5S0HZ
YE3-631-2 018 0.25 2720  72.1 72.1 711  0.80 0.53 05 0.48 0.61 2.2 2.2 5.5 8.2 ED = n | '
YE3-632-2 026 | 0.37 2730 | 739 i 721  0.81 0.69 0.66 0.63 0.96 i 55 5.5 8.5 = T |
YE3-711-2 037 05 2740 76 76 75 0.81 0.99 0.94 0.91 1.26 2.2 2.2 6.1 9.6 H ~
YE3-712-2 0.55 0.75 2740  78.2 782 ITZ 082 14 1.33 128 1.88 -5, 2.2 6.1 10.2 o| *
YE3-801-2 075 1 2880  80.7 80.7 791  0.83 1.70 1.62 1.56 2.49 9.3 2.3 6.8 11.6 B — ' : - '
YE3-802-2 11 15 [ 2880 | 827 827 || 8ig 083 243231223 a8s 23 5.3 7.3 12.6 BA M ‘ & A
YE3-90S-2 1.5 2 2895  84.2 842 825 0.83 3.26 3.10 299 495 2.3 2.3 7.6 177 ‘ | . | B8 AL
L L AB

YE3-90L-2 2.2 3 2895 859 859 842 0.85 4.58 4.35 4.19 7.26 s 53 7.8 20.4 | -
YE3-100L-2 3 4 2895  B87.1 871 854 0.88 595 565 545 9.00 2.3 2.3 8.1 23.7 63-90 100-180
YE3-112M-2 4 55 2905 88.1 88.1 86.3 088 7.84 7.45 7.18 13.1 25 2.3 8.3 30.2 ------------.--.---.-.
YE3-13281-2 55 7.5 2930  89.2 89.2 87.4 0.88 10.6 10.1 9.75 17.9 2.2 2.3 8.0 52.9
YE3-13252-2 7.5 10 2930 90.1 90.1 883 | 0B 144 137 132 244 2.2 23 7.8 71.2 63 00 31 125 116 & 80 22 80 40 11 M4ax12 23 18 25 4 85 125 63 7 6X10 215
Vst 1 s s ez w12 w04 0w 4 03 186 7 22 23 _7s v O S
YE3-160M2-2 15 20 2945 919 919 901 091 27.3 259 249 486 2.2 28 8.0 132 T i I e e I S O IS I e ke I ICE e e st G I m IS R
b ksl e S ! T T o 1 1 S s B B N L 23 L . 9L 140 37 173 175 140 125 315 150 56 24 M8X19 50 40 5 8 20 27 90 10  10X14 350

112M 190 41 227 219 166 140 4.3 180 f0 28 M10X22 60 20 o 8 24 31 112 12 12X16 447

1325 216 51 262 258 188 140 46 186 89 38 M12X28 80 65 75 10 33 41 132 15 12X16 475

SPEED 1500RPM 4-POLE 50HZ 132M 216 51 262 258 188 178 46 224 89 38 MI2X28 80 65 7.5 10 33 41 132 15  12X16 513
YE3-631-4 0.12 0.17 1310 73.9 73.9 72 4 0.72 044 0.42 0.41 0.84 2 1 9 9 4.4 85 160M 254 55 304 315 242 210 50 260 108 42 M16X36 110 a0 10 12 37 45 160 18 15X18 609
YE3-632-4 0.18 0.25 1310 76.2 76.2 74 8 0.73 0.62 059 057 1.26 2 1 2 2 4.4 8.9 160L 254 55 304 315 242 254 50 304 108 42 M16X36 110 a0 10 12 37 45 160 18 156X%18 653

180M 279 75 350 355 272 241 61 311 121 48 M16X36 110 90 10 14 425 51.5 180 22 15X18 127

YE3-711-4 0.25 0.37 1330 8.7 78.7 7.3 0.74 0.79 0.76 0.72 1.73 2.1 2.2 5.2 11.2 180L 279 5 350 355 272 279 61 150 121 48 M16X36 110 a0 10 14 42.5 B1.5 180 22 15X18 T65
YE3-712-4 037 05 1330  80.7 807 || 782 | D74 112 108 102 284 54 i) 5.2 11.8
YE3-802-4 0.75 1 1420 82.5 825 809 074 1.86 1.77 1.71 5.04 2.3 2.3 6.5 12.9
YE3-90S-4 11 15 1445  84.1 841 824 074 269 255 246 7.27 2.3 2.3 8.6 16.8 IMB5 H63-180
YE3-90L-4 1.5 2 1445 85.3 85.3 836 074 3.61 3.43 3.31 9.91 2.3 2.3 6.9 19.7 i
YE3-100L1-4 2.2 3 1435  86.7 867 850 0.78 4.94 470 453 14.6 a5 2.3 7.5 25.5 *'_73”
YE3-100L2-4 3 4 1435 87.7 87.7 86.0 0.78 6.66 6.33 6.10 20.0 2.3 2.3 7.6 31.3 @:‘F
YE3-112M-4 4 55 1440 88.6 886 868 080 857 815 7.85 265 2.3 978 i 39.2 = - - i
YE3-132S-4 55 7.5 1460 89.6 896 878 080 11.7 11.1 10.7 36.0 2.0 2:3 7.5 53.2 T l 9 1] |
YE3-132M-4 7.5 10 1460 90.4 90.4 886 0.82 154 146 14.1 49.1 2.0 2.3 7.4 58.2 [1 — e . ] T L - ) | 9
YE3-160M-4 11 15 1465 91.4 91.4 896 082 223 21.2 204 71.7 25 2.3 7.5 96.5 | | ep gp || .—iﬁ—lﬂ[—t EFE@—*—E—HL
YE3-160L-4 15 20 1465  92.1 92.1 90.3 0.82 302 287 276 97.8 2.2 “ 7.5 113 lajz | 1E Q n_f‘% E_ Q o
YE3-180M-4 185 25 1470 92.6 92.6  90.7 0.84 36.1 34.3 331 1202 2.2 9.4 7.5 170 | | $ . | T ,
YE3-180L-4 22 30 1470 93.0 93.0 911 0.85 42.3 40.2 387 1429 2.2 B y 3 184 | B=C: 1! o—F , | | J_E — |
. ‘ |
SPEED 1000RPM 6-POLE5S0HZ £ Lf £ LE
YE3-711-6 018 0.25 850 71.0 71.0 696 066 0.74 0.7 068 1.9 1.9 2.0 4.4 9.0 63-90 100-180
YE3-712-6 0.25 0.37 850 73.9 739 725 068 095 0.9 0.87 2.65 1.9 2.0 4.0 9.5
YE3-802-6 0.55 0.75 885 78.7 787 773 071 1.78 1.69 1.83 5.84 1.9 2.0 4.7 13.5 63 116 87 11 M4X12 23 18 2.5 4 85 125 158 215 192 115 a5 140 10 3
YE3-90S-6 0.75 1 935 78.9 78.9 75.9  0.71 2.37 2.28 2.17 7.66 2.1 2.1 5.8 23.8 71 130 99 14  M5X12 30 28 25 5 11 16 177 240 210 130 110 160 10 3
YE3-90L-6 1.1 1.5 945 81.0 81.0 79.4 0.71 2.99 2.84 2.74 11.1 2.1 2.1 5.9 26.6 80 158 129 19 MEX16 40 30 5 6 15.5 21.5 229 290 250 165 130 200 12 3.5
YE3-100L-6 1.5 2 949 82.5 825 809 075 4.00 3.8 267 15.1 2.1 2.1 6.0 33.5 80S 175 140 24  M8X19 50 40 5 8 20 27 240 325 275 165 130 200 12 3.5
YE3-112M-6 2.9 3 955 84.3 843 826 0.76 558 531 511 22.0 2.1 29 6.0 38.3 Q0L 175 140 24  M@X19 50 40 5 8 20 27 240 350 300 165 130 200 12 3.5
YE3-132S-6 3 4 968 B5.6 85.6 83.9 0.76 7.50 7.12 6.87 29.6 2.0 2.1 6.2 54.1 100L 198 156 28 M10X22 60 50 5 8 24 31 281 398 338 215 180 250 14.5 4
YE3-132M1-6 4 5.5 968 86.8 86.8 85.1 0.77 9.86 9.37 9.13 395 2.0 3 6.8 68.9 1zM 219 166 28 M10x22 60 o0 S 8 24 31 291 44 387 215 180 250 14.5 4
YE3-132M2-6 5.5 7.5 968 88.0 88.0 86.2 0.77 127 12 11.6 54.3 2.0 2.1 7.1 72.4 1328 258 188 38  Miz2Xz28 &0 65 7.9 10 33 & 338 475 395 265 230 300 145 4
YE3-160M-6 7.5 10 970 89.1 89.1 873 078 1858 158 152 738 2.1 2.1 6.7 118 1920 dek 186 90 MIZAZG: B0 v 10 39 # sl eld 433 €69 290 ok 5
YE3-160L-6 11 15 970  90.3  90.3 885 081 234 223 515 108.3 2.1 2.1 6.9 147 B
YE3-180L-6 15 20 978 912 912 894  0.81 30.8 29.3 28.2 1465 2.0 2.1 72 163 T S B SO o i L S . | R ML, ... . .. ... . B ... S
180M 355 272 48  M16X36 110 90 10 14 425 515 447 727 617 300 250 350 185 5
180L 355 272 48 MI1BX3IE 110 a0 10 14 42.5 51.5 447 765 655 300 250 350 18.5 5

Http://www.dikesike.com Http://www.dikesike.com




YE3/1IE3(GB1) @ imzEeain YE3/IE3(G81) @ @i

GA

T ﬁ@d .G - I

G
e = © 00,
f i rli = E : : =)
ED B | ED EB Jﬂ—v————L _ 1 = =)
B ..... i _A»F— . _ | | ! - - TED  EB :ﬁ:‘ﬂ: =g
o % ' ' ——
| 4 —_ < o= | _.1_;_=__I T - [0 b E oz e IE
—a—u °
b — - " o o
- =SS = === =l : ===l
1
E G | B | E c g E LE' el LB
BA BA :
| BB e BB 63-90 100-160
| LB LB
: : -------------------
63-90 100-180 120 M4X12 4 125 146 215 171
71 136 9? 14 M5X12 30 22 4 5 11 16 162 240 182 75 ?u 1 05 ME 3
80 158 129 19 MEX16 40 30 5 5 15.5 21.5 208 290 250 100 80 120 M6 3.5
100 125 116 MAX12 12.5 6X10 215 192 115 140 90S 175 140 24 MEX19 50 40 5 8 20 97 2215 335 275 115 95 140 M8 3.5
71 12 33 140 130 9'5‘ an 27 an 45 14 M5GX12 30 25 2.5 5 11 16 71 T 6X12 240 210 130 110 160 10 0L 175 140 24 MBX19 o0 40 5 8 20 27 227.5 320 300 115 95 140 ME 3.5
B0O 125 35 157 158 129 100 31 125 50 19 MEX16 40 30 5 6 155 215 80 & 10X14 290 250 165 130 200 12 100L 198 156 28 M10X22 60 50 3 8 24 31 255 398 338 130 110 160 M10 4
90S 140 37 173 175 140 100 315 125 56 24 MBX19 50 40 § 8 20 27 90 10 10X14 325 275 165 130 200 12 11zm 219 166 28 M10X22 60 =20 2 8 24 31 2755 447 387 130 110 160  M10 4
90L 140 37 173 175 140 125 315 150 56 24 M8X19 50 40 5 8 20 27 90 10 10X14 350 300 165 130 200 12 11322: iﬁﬂ LR mgﬁa 80 25 :'5 :” 32 :': 31: “:’5 295 ;‘5 :3“ 200 M1z 4
100L 160 40 193 198 156 140 39 172 63 28 M10X22 60 50 § 8 24 31 100 11 12X16 398 338 215 180 250 14.5 3 56 183 38 8 &0 5 3 0 3 31 513 33 3 30 200 Mi2 $
112M 190 41 227 219 166 140 43 180 70 28 M10X22 B0 50 & B 24 31 112 12 12X16 447 387 215 180 250 14.5 SR e e e Mihash i ! 1 e ak | [ IR L s S A 2
' 160L 315 242 42 M16X36 110 an 10 12 37 45 399.5 653 543 265 230 300 M12 5

1326 216 51 262 258 188 140 46 186 89 38 M1I2X28 80 65 7.5 10 33 41 132 15 12X16 475 395 265 230 300 14.5
132M 216 51 262 258 188 178 46 224 89 38 M12X28 80 €65 7.5 10 33 41 132 15 12X16 513 433 265 230 300 145
160M 254 B3 304 315 242 210 50 260 108 42 M16X36 110 90 10 12 37 45 160 18 15X18 609 499 300 250 350 185
160L 254 55 304 315 242 254 50 304 108 42 M16X36 110 90 10 12 37 45 160 18 15X18 653 543 300 250 350 185
180M 279 75 350 3556 272 241 &1 311 121 48 MI6X36 110 80 10 14 425 515 180 22 15X18 727 617 300 250 350 185
180L 279 75 350 355 2V2 27V9 61 350 121 48 MI16X36 110 90 10 14 42.5 51.5 180 22 15X18 765 655 300 250 350 18.5

IM B34 H63-160
OA
1V

B 2139 BB STRUCTURE EXPLODED VIEW

[ FE I o T

. 3
G ©0 45
(=] (=]
! - = o 8 |a
. ofz 2
— B |8=
= L
111 L1 118
EL G B ol
P e | L
LB . AB
| L
63-90 100-160
100 125 116 M4X12 12.5 6X10 215 192 3
?1 112 33 140 130 9? Em 2? Em 45 14 M5X12 30 25 2,5 4 11 16 ?1 7 6X12 240 210 85 'ru 105 M5 3
80 125 35 157 158 129 100 31 125 50 19 MGX16 40 30 5 6 155 215 80 8 10X14 290 250 100 80 120 M6 3 1 BSi2 (B5 Flange) 12 & F (Stator) 23 & A2 (Terminal box lid)
— e
90S 140 37 173 175 140 100 315 125 56 24 M8X19 50 40 S5 8 20 27 90 10 10X14 325 275 115 95 140 M8 3 o BB (Gasket) 13 &AM (Feet) 24 &% & (Terminal box base)
0L 140 37 173 175 140 125 315 150 56 24 M8X19 S50 40 5 & 20 27 90 10 10X14 350 300 115 95 140 M8 3 3 B14% 2 (B14 Flange) 14 $5}2 (Nameplate) 25 SRR E (Cable gland)
100L 160 40 193 198 156 140 39 172 63 28 M10X22 60 S50 5 8 24 31 100 11 12X16 398 338 130 110 160 M8 4 7)(8) 4 #LEE (Frame) 15 ¥ F (Rotor) 26 LR (Terminal board)
112M 190 41 227 219 166 140 43 180 70 28 M10X22 60 50 5 8 24 31 112 12 12X16 447 387 130 110 160 M8 4 5 § (Key) 16 MIlFZ (Innerbearing cap) 27 $@i%#EF (Brass lug)
1328 216 51 262 258 188 140 46 186 89 38 M12X28 80 65 7.5 10 33 41 132 15 12X16 475 395 165 130 200 M10 4 6 M (VRing)Oil Seal 17 e (Rear endshield) 28 $F4E08 (Brass nut)
132M 216 51 262 258 188 178 46 224 B89 38 MI2X28 80 65 7.5 10 33 41 132 15 12X16 513 433 165 130 200 M10 4 4 EEE!FE”}S _ . 13%?‘?“} I 29 Eg*’?‘f%ma”hmi’“
160M 254 55 304 315 242 210 50 260 108 42 M16X36 110 90 10 12 37 45 160 18 15X18 609 499 215 180 250 M12 6 g Hﬁﬁ%{FEﬂﬁtrﬁr?dg:iilg;} ;g misi?ﬁw’ g'i' mﬁ(ig{t;gﬁ;ﬁ;ﬁ ey
160L 254 55 304 315 242 254 50 304 108 42 M16X36 110 80 10 12 37 45 160 18 15X18 653 543 215 180 250 M12 5 10 B (Wave washer) 21 BE (Washer) - B
-
11 H & (Bearing) 22 MM -E# (Fan clamp)

69 Http://www.dikesike.com Http://www.dikesike.com w




YEJ SOM:=1: 1) YEJ D @reaii

B I
0l

D Cil 2 68 Zh# i ik @

YEJDRIBHEBzh=HR B 2R EERIREIB/T6456FB KB ITRIFINEN, BY2RIFHRIIERES
/B =ERLTHEIDYMDCEH BN/ _KEoHET, BailRinNEH, BYERSHHSNERZESKE, B
BB EEBIRiREL, BEEHIE1E.,

BB ERRNBHEORSHKIRERFNLE, EHXREBTERRZOED, BaINMERER. X
BEEIHEEEED, METEHRR, EFEXEERER™ERAXNERBNIE, ErRFNBHIRESZ, KEERH
EN .

YEJDRIIBHEHB D =HRLENI, ERTAZHZN. ZERENORE, HESHFEZREHZ . SWREMEMB LSBT
FREKNSZIMULMT, WHAEVR. =@ylek. DRI, 2. SR, BEVW ., BEEFSNERTECERN
ot .

(EFi%AE DESIGNATION

. BERIINEEKBGIFFRPIP4A4, Hohesabo RIP23;
. BEnleEA SN AIC411 (BERI)

. BEBSFRABR, HENREAFK;
 FOBBEE, RiE. BT, EHGE,

(FFHSE{E OPERATING CONDITIONS

. BiEEE. BHIAAC380V 50Hz, #IahzgADCO9VEDC170V (#MMIEME ) ;
. TEBI: S1 (EETIEH ) ;

. IFIRAEIZ1000m:;

. MR REREABIZ40C, RIEA-15TC;

 FEBESREEEAST25CH, RIEBFHRSHENEEA90%.

NN ' T LN

bW -

FEnBlS MOTORLDENTIFICATION SYMBOL

YEJD 801-4
No.of poles

K E
Core length

MEES
Frame size

Bifislah
DC brake

= =h=2; =2k ]
Three Phase Induction Motor

Http://www.dikesike.com Http://www.dikesike.com




YEJ [SORT: :T=1:211) YEJ

O
Mo L | 1N

BERIMERT

MOUNTING AND OVERALL DIMENSIONS

Il YEJ

IMB3IMB35 63-160

&l 7742 BEARING SIZE @

63 2-4

180201 6201 Z2Z-C3 180201 6201 ZZ-C3
& 2-4-6-8 180202 6202 ZZ-C3 180202 6202 ZZ-C3
80 2-4-6-8 180204 6204 ZZ-C3 180204 6204 ZZ-C3
90 2-4-6-8 180205 6205 ZZ-C3 180205 6205 ZZ-C3
100 2=4=0-0 180206 6206 ZZ-C3 180206 6206 ZZ-C3
112 2-4-6-8 180206 6206 ZZ-C3 180206 6206 ZZ-C3 L e
132 2-4-6-8 180208 6208 ZZ-C3 180208 6208 ZZ-C3
160 2-4-6-8 180209 6209 Z2Z-C3 180209 6209 ZZ-C3

DC4#dE DC CONSTRUCTION DIAGRAM

YEJ63-160 B3.B5/B35

63 100 a0 40 11 23 5X5 8.5 63 70 13 95 140 0 10 3.0 4 136 130 111 160 130 405

71 112 a0 45 14 30 B6XB 11 71 7.0 130 110 160 0 10 3.5 4 165 145 118 175 185 440

80 125 100 30 19 40 8X7 15.5 80 10.0 165 130 200 0 12 3.5 4 180 175 134 195 195 465

90s 140 100 56 24 50 exy 200 90 10.0 165 130 200 0 12 3.5 4 180 195 140 185 1905 465

0L 140 125 26 24 2l 8X7 20.0 a0 10.0 165 130 200 0 12 3.5 4 205 195 140 245 245 560

100L 160 140 63 28 60 8X7 240 100 12.0 215 180 250 0 15 4.0 4 245 215 160 265 265 580

112M 190 140 70 2B 60 108 24.0 112 12.0 215 230 250 0 15 4.0 4 280 240 178 315 315 675
1 imﬁ Ohges ’ ﬁﬂ]ﬁ RIS MG 1325 216 140 89 38 B0 10X8 33.0 132 12.0 465 230 300 0 15 4.0 4 280 275 206 315 315 T15
2 jfi#F&  Bearing 10 FEMESE Manual release level ‘ ; '
3 Hﬂﬂﬂ Frontendshield 11 gﬁﬁ Epnng 132M 216 1T8 89 38 B0 12X8 33.0 132 12.0 265 250 300 0 15 4.0 4 330 275 2086 385 385 B50
4 JEF  Stator 12 Pl = Fan cover
5 &% Terminal board 13 ) Fan 160M 254 210 108 42 110 12X8 37.0 180 150 300 250 350 0 19 50 4 330 330 255 385 385 890
6 B Ternial box 14 BT IRE] Adjusting screw
7 Hii#E Rectifier 15 EE B Electromagnet 160L 254 254 108 42 110 14X9 37.0 160 150 300 250 350 O 19 50 4 355 330 255 430 430 930
8 [Gi%% Backendshield 16 ek Armature

Http://www.dikesike.com Http://www.dikesike.com




YEJ @ iBFEeain

BERIMNERT

MOUNTING AND OVERALL DIMENSIONS

Bl YE

IMBl4 63-160

=
-
i}

YEJ63-160B14

63 " 23 XD 8.2 - &0 M5 240 2.5 4 130 11 405

71 14 30 6X6 11.0 85 70 Me 270 2.0 4 145 118 440

80 19 40 BXT 15.5 100 a0 MG 375 3.0 4 175 134 465
90s 24 50 BXT7 20.0 115 95 MEa 400 3.0 4 195 140 465
90L 24 50 BXT 20.0 115 95 ME 426 3.0 4 195 140 560
100L 28 60 8X7 24.0 130 110 Mé 465 3.5 4 215 160 580
112M 28 60 10X8 24.0 130 110 M8 495 - P 4 240 178 675
1325 38 80 10X8 33.0 165 130 M10 570 3.5 4 275 206 715
132M 38 a0 12X8 33.0 165 130 M10 610 3.5 4 275 206 850
160M 42 110 12X8 37.0 215 180 M12 715 4.0 4 330 255 890
160L 42 110 14 X9 37.0 215 180 M12 760 4.0 4 330 255 930

YEJ iS5 ERii

ilald il sl
L) | L L | ol

AC & & Eh# ik @

YEJARIIACH MBI ETAEBELAREE, EEWNERERXRHMBI=HRLBII, BRIECHKE, 7
SEFERBSRRITAFHARIIGI B .. ZEDIRABIEESREFRENINT, FEURIDER, SEZRREIANSH
iR, BEREERE. =M. SHEN. FS. EaKES. #a1hE. RIVMNREBERSFAS. WrFHmE28ATE
te, XERTLUAZIAT .. BRBEMAVINEE, HERBPEIRER.

YEJARIIACH BN ERTERRRELL ., HEREM., FEE%. MEE. PHLEBTRSHIMPIEEHERD
FOMENEsN A, AR, SR, SEilm. DRI, DR, BRI, FF.

YEJARIIACHIZNBZNH AR Fshaz BBl Gin RF RSB REEENIFMPw L. ST NBNIENS
iR, flaisRtbER T, BTBRRDIFABESEEE, BESHNMFERSERNE L, NMESEI SRR, Bl
RERAIz¥ . SRR . FasRERXBARRESZ . EEVVIAET, EHFEEBEZEN, MEBRBRFBMAXER
SESARPBAFHERATDINEZNENS P, EEHZRELUERE

YEJASeries Ac Brake Motors,Designed A Ccording To lec Stan Dard,Are Totally-enclosed Fan-cooled Squirrel-cage Three
Phase Asynchron Ous Motors With Additional Electromagneticbrake Disc In Ac Alternating Current.The Motor With Removable.

Feet Is Made Of Aluminum-alloy Die -casting.Variousmountingmode Is Available.Ilt Has A Lot Of Advantage In Cluding Beautiful
Modeling, Compact Structure, High Efficiency, Large Starting Torque, Prompt Braking, excellent Performance, Low Noise, Low
Vibration Etc Besides, The Brake Has A Manual Release Device, which Allows The Brake A Function Of Both Manual And Electrical
Release Andis Conveninet Forusing.

YEJASeries Ac Brake Motors Are Suitable For The Machinery That Requires Prompt Braking, Correct Positioning, Ripeat
Running, frequent Staring And Avoiding Slipping, Such As The Elevating Machinery, Transportation Machinery,Paching Machinerym
Food Machinery, Printing Machinery, Weaving Machinery And Reducers Etc.

The Ac Brake Disc Is Assembled On The Non-drive End Shaft. When The Power Is Supplied To

The Motor, The Brake Also Begins To Work. The Magnetic Force Absorbs The Armature And Presses The Spring. The Braking
Avting Disc |s Absorbed Against The Absorbing Disc. The Brakeis Released, Then The Motor Begins To Run Smoothely. When The
Power Supply Is Interrupted, It Doesn?sexert The Magnetic Force And Creates Aprompt Braking Action. For Adjustment,Insert The
Release Leverinto The Screw Hole On The Back Offan Cover And Screw Into The Threaded Holein Of The Back Offan Cover And
Screw In To The Threeded Hole In The Braking Acting Disc. It Can Make The Brake Released.

{(FFHSE{¥ OPERATING CONDITIONS F=EnBYES  MOTOR LDENTIFICATION SYMBOL

ﬁﬁ%%:ﬁﬁ =407C
=i . <10003% YEJ A—Bﬂl—-*-l

HEITEE. =95% “' 1B
EEBME. 380V 400V 415V No.of poles
FEME. 50HZ 60HZ S
A SkwhRLITHSEAYEE, 4kwh Core length
LAERIIE R “ A 7 BE HEES
B shesSEBE: 380V Frame size
TEs%: QST I
AC brake

1.Ambient temperature should not bemore than 40°C =
2.The elevaton should be within 1000 meters; ThiGs DRaEs Indiﬁ%ﬁ{ﬁﬂ

3.The relative humidity should not bemore than95%

4 Rated voltage: 380V 400V 415V

5.Rated Frequency: 50HZ 60HZ

6.Connection: Star-connection for 3kw or less whereas delta-
connection for 4kw or more.

7.Duty/Rating: Continuous(S1)

@ Http://www.dikesike.com Http://www.dikesike.com @




YEJ

AC

o =] @ N & G P —

@ Http://www.dikesike.com

ZEiEE

AC CONSTRUCTION DIAGRAM

T Rotor

gk Key

A Frontbearing

Al i 25 Frontendsbield

EF Stator

= Circlip

[5#% ( #%)3h0@ ) Rear cover(brake surface)
¥, H Fan

R =& Fan clamp

= 388 7 Rcar bearing

=¥ Rcar cover

SHEE Spring

HTHERE] Adjusting screw

& 5 18 £ Fixing nut
SEETEE  Airgap adjustingnut
[ 72 #% £ Fixing nut

il zh &2 Brake disc

ek Armcure

il wh i [ Brake coil

B End cover

A HMmIER  Plastichexigonalnut
B EETEE%Termianlbox screws
BEE Terminalbox

R Terminal board

1R FFIEE o EFECable gland or cap
BSiE= B5 flauge

B14jk= B14 flange

ib Fiz & Wave washer
FIBEMES Manualreleaselevel
N3z = Fulcrum hubfor brakelease

YEJ

k738 BEARING SIZE

63
i
80
90
100
112
132
160

2-4
2-6-8
2-4-6-8
2-4-6-8
2-4-6-8
2-4-6-8
2-4-6-8
2-4-6-8

B3Rl
LAC

T
L) | L L

180201
180202
180204
180205
180206
180306
180308
180309

>>> IBEAREE TECHNICAL DATA

400V 50Hz 2pole 3000rpm

6201 2Z2-C3
6202 ZZ-C3
6204 ZZ-C3
6205 ZZ-C3
6206 ZZ-C3
6306 ZZ-C3
6308 ZZ-C3
6309 Z2Z-C3

180201
180202
180204
180205
180206
180306
180308
180309

6201 2Z2-C3
6202 ZZ-C3
6204 ZZ-C3
6205 ZZ-C3
6206 ZZ-C3
6306 ZZ-C3
6308 ZZ-C3
6309 ZZ-C3

YEJ ACT11-2 0.37

YEJ ACT12-2 0.55 0.75

YEJ ACB801-2 0.75

YEJ ACB802-2 1.1

YEJ ACS0S-2 1.5

YEJ ACH0L-2 2.2

YEJ AC100L-2 3

YEJ AC112M-2 4

YEJ AC 132512 5.5

YEJ AC13252-2 7.5

YEJ AC160M1-2 11

YEJ AC160M2-2 15

YEJ AC160L-2 18.5

0.5

1.5

5.5

7.5

11

15

20

25

2740

2740

2840

2840

2840

2840

2860

2860

2860

2880

2880

2880

2880

0.94

1.33

1.73

2.45

3.26

4.61

6.01

7.8

10.5

13.9

19.8

27

32.9

70.0 0.81 1.26 2.2 2.3 6.1

73.0

75.1

77.0

79.0

81.1

82.8

83.1

84.7

86.0

87.6

88.7

89.3

0.82

0.83

0.84

0.84

0.85

0.87

0.88

0.88

0.89

0.89

0.90

0.90

1.88

2.54

3.72

5.04

7.40

9.95

11.26

18.11

24.70

35.85

48.89

60.30

22

2.2

2.2

2.2

L

2.2

2.3

2.2

2.3

2.2

2.3

2.4

2.3

2.3

2.3

2.3

2.3

2.3

2.4

2.3

2.4

2.3

2.3

2.5

6.1

6.1

7.0

7.0

7.0

7.5

7.0

7.2

6.9

6.8

7.0

7.0

0.00375 4

0.00390 4 0.15
0.00428 8 0.20
0.00496 8 0.20
0.0074 16 0.25
0.00933 16 0.25
0.01064 35 0.30
0.03199 45 0.35
0.06434 80 0.40
0.0724 80 0.40
0.2285 160 0.50

0.2662 160 0.50

0.316 160 0.50

Http://www.dikesike.com

61

64

64

68

68

68

70

70

70

70

74

74

0.15 61 9.3

10.5

14.5

15.5

20.0

22.5

30.5

35.6

96.5

44 1

112

124

160




YEJ [SOT: :T=1=-11 YEJ SO =111

BERIMZRT

MOUNTING AND OVERALL DIMENSIONS

RASH

TECHNICAL DATA

B YEJ B YEJ

400v 50Hz 4pole 1500rpm

YEJ AC711-4 0.25 0.37 1330 0.75 65.0 0.74 : 7 £:1 22 L 0.00323 4 0.20 93 9.3 _-------------
YEJ AC712-4 0.37 0.5 1330 1.60 67.0 0.75 2.56 21 2.2 5.2 0.00576 4 0.20 93 10.5

8

8

o
D

S

'ﬂ-

100 136 140 173
YEJ AC801-4 0.55 0.75 1390 1.49  71.1 0.75 3.75 7.3 2.3 50 0.00866 0.20 58 14.0 ik g7 i . i i i i 55 3z ¥ii S 7 i
YEJ AC 802-4 0.75 1 1390 1.95 73.1 0.76 5.11 2.3 2.3 6.0 0.01073 0.20 a8 15.0 80 125 100 50 19 410 BXE 15.5 20 a 165 159 193 370
YEJ AC90S-4 1.1 1.5 1390 2.70 76.3 0.77  7.50 2.3 2.3 6.0 0.1132 16 0.25 59 20.0 S 148 SR 56 24 20 §X70 el 90 10 L L L
S0L 140 125 56 24 50 axy 20.0 a0 10 180 179 217 435
YEJ AC90L-4 1.5 2 1390 3.49 78.6 0.79 10.23 2.3 2.3 6.0 0.143 16 0.25 59 22.5 100L 160 140 68 28 60 8x7 24.0 100 11 205 199 238 485
YEJ AC100L1-4 2.2 3 1410 4.83 81.2 0.81 17.80 2.3 2.3 7.0 0.2733 35 0.30 61 30.2 112M 190 140 70 28 60 BX7 24.0 112 12 245 222 270 503
1325 216 140 29 38 a0 10X8 33.0 132 15 280 260 315 H85
YEJ AC100L2-4 3 4 1410 6.39 827 0.82 20.18 2.3 92 7.0 0.3506 35 0.30 61 33.0 SASK e pre=s s Ak S NG e e 1= e rees rorye a5
YEJ AC112M-4 4.0 8.5 1440 8.39 84.5 0.82 27.09 2.3 2.3 7.0 0.04969 45 0.35 65 38.0 160M 254 210 108 42 110 12X8 37.0 160 18 330 316 385 720
YEJ AC13251-4 5.2 7.5 1440 11.2  85.5 0.84 36.6 -, 54 7.0 0.11584 80 0.40 65 61.5 100L 234 34 100 42 1 12X0 ald) 159 L 330 =10 485 765
YEJ AC13252-4 7.5 10 1440 14.8 87 0.85 49.74 2.3 2.3 7.0 0.15404 80 0.40 65 70.5
YEJ AC 160M1-4 11 15 1460 22.1 88 0.84 72.95 2.3 2.3 7.0 0.3986 160 0.50 65 115

T

/|

YEJAC160M2-4 15 20 1460 29.8 885 085 9812 23 23 7.0 068288 160  0.50 70 128 ) '
YEJAC160L-4 18.5 25 1470 332 91  0.86 121 23 23 7.0 0.68667 160  0.60 70 160 IM B5 YEJ AC 63-160 =iﬁ_z.
1 D

400v S50Hz 6pole 1000rpm

I\
M~

YEJ AC711-6 0.18 0.25 850 0.70 56.0 0.66 1.91 1.9 2.0 4.0 0.001219 4 0.15 49 10.5
YEJ AC801-6 037 0.5 885 1.23 62.0 0.70 3.93 1.9 2.0 4.7 0.01514 8 0.20 51 14.5 e 115 140 g 3 140 e S 42
YEJ AC802-6 0.55 0.75 885 1.36 65.0 0.72 5.84 1.9 3.1 4.7 0.01815 8 0.20 51 15.5 DX5 1"0 130 11“ 160 0 4 140 173 342
Hﬂ 19 4D GXG 15.5 165 130 200 0 12 3.5 4 159 193 370
YEJ AC90S-6 0.75 1 910 2.18 69.0 0.72 7.87 2.0 2.9 55 0.03573 16 0.25 54 19.5 905 24 50 8X7 20.0 165 130 200 0 12 3.5 4 179 217 410
0L 24 a0 BxT 20.0 165 130 200 0 12 3.5 4 179 217 435
YEJ ACO0L-6 1.1 1.5 910 3.02 72.1 0.73 11.54 2.0 2 1 55 0.07639 16 0.25 54 22.0 108L o b o 540 e 180 280 5 (X " 3 b o ABE
YEJ AC100L-6 1.5 2 920 3.79 76.1 0.75 15.24 2.0 59 55 0.15437 35 0.30 58 30.5 112M 28 60 8X7 24.0 215 230 250 0 15 4 4 222 270 503
1328 38 80 10X8 33.0 465 230 300 0 15 4 4 260 315 585
YEJ AC112M-6 2.2 3 940 6.5 80.5 0.76 22.47 2.0 2.1 6.5 0.1906 45 0.35 61 38.0 132M 38 80 10X8 33.0 265 250 300 0 15 4 4 260 315 625
; 160M 42 110 12X8 37.0 300 250 350 0 19 5 4 316 385 720
YEJ AC 13281-6 3.0 4 960 8.6 83 0.77 29.84 2.0 5.9 6.5 0.2384 80 0.40 61 29.0 pory - e e g s cy s - D - , e o e
YEJ AC13252-6 4.0 55 960 10.5 84 0.78 39.79 2.0 2.1 6.5 0.45813 80 0.40 62 68.0
YEJ AC160M1-6 55 7.5 960 14 85.3 0.78 54,71 2.0 29 6.5 0.59078 160 0.40 62 77.0
YEJ AC160M2-6 7.5 10 970 19.6 86 0.78 73.84 2.0 2.1 6.5 0.9919 160 0.50 65 105 & a4
YEJ AC 160L-6 11 15 970 25.8 86 0.78 108.3 2.0 24 6.5 1.6609 160 0.50 65 140 S| _ = = ; /
IM Bl4 YEJ AC 63-160 T = BT 7 < -
400v 50Hz 8pole 750rpm ‘L I
J - L/
YEJ AC801-8 0.18 0.25 645 0.84 51.0 0.61 4.49 1.8 1.9 3.3  0.00865 8 0.20 49 14.5 —EL—
YEJ AC802-8 0.25 0.37 645 1.10 54.0 0.61 3.46 1.8 1.9 3.3 0.00954 8 0.20 49 15.5
YEJ AC90S-8 0.37 0.4 670 1.41 62.0 0.61 5.12 1.8 1.9 4.0 0.10657 16 0.25 53 19.5
YEJ AC100L-8 0.75 1 680 2.28 71.0 0.67 10.23 1.8 2.0 40 0.13395 35 0.30 56 30.5 9X35 4 140 173 342
5X5 ‘t*l {] EE ?El ME 4 140 173 342
YEJ AC112M-8 1.8 2 680 3.7 80 0.68 20.46 2.0 2.0 50 0.14666 45 0.40 58 38.0 au 19 .m 6XE 15.5 100 80 M6 3_5 4 159 193 370
o0s 24 50 BXT 20.0 115 a5 ME 3.5 4 179 217 410
YEJ AC 13251-8 2.2 3 710 5.8 81 0.71 29.59 2.0 2.0 55 0.15534 80 0.40 58 61.5 ey s Th e s o ge 5o g . e sy s
YEJ AC 13252-8 3.0 4 710 7.7 82 0.72 40.35 2.0 2.0 55 0.19184 80 0.40 58 75.0 100L 28 60 8X7 24.0 130 110 M8 4 4 199 238 485
112M 28 +]4] BXT 24.0 130 110 ME 4 4 el 270 03
YEJ AC160M1-8 40 55 720 9.9 84 0.73  53.06 2.0 2.0 6.0 0.37563 160 0.50 58 101 1328 18 30 10X8 33.0 165 130 M10 4 4 260 315 585
i : i 2 72 13 5 i 79 5 - 6 4714 1 ] 11 132M 38 80 10X8 3.3.0 165 130 M10 4 i 260 315 625
FRL S INIMES - v U _dde s . " 3 4 ; . e sk o 4 160M 42 110 12X8 37.0 215 180 M12 5 4 316 385 720
YEJ AC160L-8 7.5 10 720 17.3 86 0.75  99.50 2.0 2.0 6.0 0.60538 160 0.50 60 138 160L 42 110 12X8 37.0 215 180 M12 5 4 316 385 765

@ Http://www.dikesike.com Http://www.dikesike.com




(55 TSR B ERiN

INTEGRAL VARIABLE FREQUENCY MOTOR DICK CISCO

EL B

INTEGRAL VARIABLE FREQUENCY MOTOR

ZRVNBHAFERTIFREY, HBETRENBHSEMBNERESN. AETREFLETE. B8 TIFME,
TARER. EERMENZERTRERFAEIB/T 7118-2004F %k Hi&, HSEMRIECHREREN, NZNASXKEIE
§. aE. HE. BR LI, Tl R, REFTW

This series motors are the new generation of frequency conversion motor,change the connection mode of the motor and
inverter of the original.lImprove the equipment installation space,improve work efficiency,saving energy.The electrical properties
and installation dimensions are manufactured according to the national standard JB/T 7118-2004 requirements,and connect with
international |EC standard,widely used in transportation,metallurgy,textile,printing and dyeing,chemical,mining,fans,pumps and
other industries.

>>> 1Hge#iE PERFORMANCE DATA

Bs h&  EERR BEEE BB REE fBIhEEiBNEE
Current  Rated Torque Constant Torque Frequency Range Constant Output Frequency Range
Type Kw (A) (Nm) (Hz) (Hz)
Y2 6314 0.12 0.44 2.2
Y2 6324 0.18 0.62 2.2
Y2 7114 0.25 0.79 2.4
Y2 7124 0.37 1.12 2.4
5~50 50~100
Y2 8014 0.55 1.6 3.8
Y2 8024 0.75 2.0 3.8
Y2 90S-4 1.1 2.49 4.7
Y2 90L-4 1.5 3.7 5.6

@ Http://www.dikesike.com

YVPRAZMRESA=ERSRIN D mesaai

YVIP Series Frequency-specific Three Phase Induction Motor

YVPRIENEEER={HS L8 HLEES63~315 11%0.12~200kw

YVP Series Frequency-specific Three Phase Induction Motor EHEMFESOHzZ HBERERF
 TUEE(3)5~100Hz  BLAERE 4P

ARREVIBNNE2TMBFRETA=HRLEDNN SR FEMFESHER, LM EIE150-2750rpmEE A LR B
iE EBLEN XEE AR BERTKNNMEFNEEDN. EEBSUHENRERITRERTAEIB/T7118-2004F K H

, HSERECIHREREN, NZNASXKBIEHE . 8. . PR, I, gl ki, KRFTW

This series motors is the combined use of variable frequency speed control for three-phase asynchronous motor and electronic
inverter,and can realize stepless speed regulation speed within the range of 150~2750rpm,the mechanical equipment has stepless
speed regulation needs a wide range of ideal power.lts electric performance and installation dimensions are manufactured
according to the national standard JB/T 7118- 2004 requirements,and connect with international |IEC standard,widely used in
transportation,metallurgy,textile,printing and dyeing,chemical,mining,fan,water pump efc.

>>> HEEXIE PERFORMANCE DATA

S IhEe EERIR EEIE BHIERTER B E
Current Rated Torque Constant Torque Frequency Range Constant Output Frequency Range
Type Kw (A) (Nm) (Hz) (Hz)

YVP-80M1-4 0.55 1.6 3.8

YVP-80M2-4 1D 2.0 02

YVP-90S-4 1.1 2.9 .5

YVP-90L-4 1.5 37 10
YVP-100L1-4 2.2 5.2 14.9
YVP-100L2-4 3 6.8 20

YVP-112M-4 4 6.8 26.5 5~50 50~100
YVP-1325-4 5.5 11.8 36.5

YVP-132M-4 5.5 15.6 50

YVP-160M-4 11 22.3 72

YVP-160L-4 15 30.1 98

YVP-180M-4  18.5 36.1 120

YVP-180L-4 22 42.7 143

O> BEBIMERT MOUNTING AND OVERALL DIMENSIONS

IM B14B H63-160

GA
=
G o
' ED
o |
o= =y E
100-160
-%Eé AC AD D DH E EB Eﬂ F G GA HD L LB M N P S T
63 120 88 11 MaX12 23 16 3.5 4 8.5 125 146 215 171 75 60 g0 ME 3
71 136 97 14 M5X12 30 22 4 5 11 16 162 240 182 75 70 105 ME 3
80 158 129 19 MEX16 40 30 1 6 18.5 21.5 208 290 250 100 80 120 ME 35
3035 175 140 24 MEX1D a0 410 b 8 20 27 22T .5 325 275 115 a5 140 ME o i
90L 175 140 24 MBX19 50 40 5 8 20 27 227.5 350 300 115 95 140 M8 3.5
100L 198 156 28 MI10X22 60 50 5 o 24 a1 255 398 338 130 110 160 M10 ;1
112M 219 166 28 MI10X22 GO 20 5 8 24 31 275.5 447 3B7 130 110 160 M10 3.5
1328 258 188 38 M12X28 80 65 7.5 10 33 41 317 475 395 215 130 200 M12 4
132M 258 188 38 M12X28 80 65 7.5 10 33 41 317 513 433 215 130 200 M12 4
160M 315 242 42 M16X36 110 90 10 12 37 45 399.5 609 499 265 230 300 M12 4
160L 315 242 42 M16X36 110 a0 10 12 37 45 3995 653 543 265 230 300 M12 4

Http:waw.dikesike.cum




YVPEAEHAEER=ERSHHN D imasaain Y3/IE1 B R

YVP Series Frequency-specific Three Phase Induction Motor DICK CISCO DICK CISCO

SO> ZERBIMERT MOUNTING AND OVERALL DIMENSIONS

B Y 3/IE135832Ran

IMB3 H63-180

GA
=
© !E@@;'!
all — "‘rl. e |
e _ e [ O 1 B _ g [l oo |
e | 0 ' -
. 1 .E.; — ] — — |{ ____-_{Ia:-d"!
| [ | ===
. & -
| ' | I /""l | t Wil T -//f
LE L C [ B = E C _B |
BA
| il =B g
- L
63-90 100-180
100 125 116 87 80 22 M4X12 12.5 BX10 215
11 12 33 140 130 93 90 27 an 45 14  M5X12 30 28 25 5 11 16 ?1 7 6X12 240
80 125 35 157 158 120 100 31 125 50 18  M6X16 40 30 5 6 155 215 80 8  10X14 290
90S 140 37 173 175 140 100 315 125 56 24  M8X19 50 40 5 e 27 90 10  10X14 325 -1 IE1 DESIGNATION
90L 140 37 173 175 140 125 315 150 56 24  MBX19 50 40 5 8 20 27 90 10  10X14 350 >>> IE11JG?1HH
100L 160 40 193 198 156 140 39 172 63 28  M10X22 60 50 5 8 24 31 100 11 12X16 398
112M 190 41 227 219 166 140 43 180 70 28  M10X22 60 50 5 8 24 31 112 12 12X16 447
1328 216 51 262 258 188 140 46 186 89 38 M12X28 80 65 75 10 33 41 132 15  12X16 475
132M 216 a1 262 258 188 178 46 224 89 38 M12X28 a0 65 7.5 10 33 41 132 15 12X16 513 _!_3_ 1 1 2M -4 _Y__3_ 200 !T-.Z
160M 254 oo 304 315 242 210 50 260 108 42 M16X36 110 90 10 12 I 45 160 18 15X18 609 mﬁﬂ t&ﬁ
160L 254 55 304 315 242 254 50 304 108 42  MI16X36 110 90 10 12 37 45 160 18  15X18 653 No.of poles No.of poles
180M 279 75 350 355 272 241 61 311 121 48 M16X36 110 90 10 14 425 515 180 22  15X18 727
ol = -
180L 279 75 350 355 272 279 61 350 121 48 M16X36 110 a0 10 14 42.5 51.5 180 22 15X18 765 %E‘IL"'Z‘:E ﬁ‘ﬂﬁ{xﬁ
Core length Core length
IMB5 H63-180 e HEE2
i Frame size Frame size
o IE1(GB14gERN) IE1(GB14:gERN)
—— L&
| T LO . T E!-‘:@@:'_T REEHIS LS
K T T e £ Asynchronous motor Code Asynchronous motor Code

P

N

AC

P

N
I w |

AC

! |: g a8 | | -| &
._:— i _ﬁ
1 AN\
E . " PAIR S 4% MOTORIDENTIFICATION SYMBOL ZE1A 3, COOLING METHOD
L _ L
63-90 100-180
16 MaX12 4 126 158 215 115 140 I__-__-§ 1IC-411
71 130 99 14 M5X12 30 28 2.5 3 11 16 177 240 11 210 130 110 160 10 3
80 158 129 19 MBX16 40 30 5 6 155 215 229 290 12 250 165 130 200 12 35
90S 175 140 24 M8X19 50 40 5 8 20 27 240 325 12 275 185 130 200 12 35 75 0% 3k
a0L 175 140 24 MBX19 50 40 5 g 20 27 240 350 12 300 165 130 200 12 3.5 Sp|ashpeggf . ‘
100L 198 156 28  M10X22 60 50 5 8 24 31 281 398 13 338 215 180 250 145 4 = 2HFABBESI
112M 219 166 28  M10X22 60 50 5 8 24 31 291 447 14 387 215 180 250 145 4 _ - b= Totslly—enclosed fan—cooled type
1328 258 188 38  M12X28 80 6 75 10 33 41 338 475 14 395 265 230 300 145 4 Protecting against dust Hls o 4052
: viIsg /
132M 258 188 38  M12X28 80 65 75 10 33 41 338 513 14 433 265 230 300 145 4 B IPE S Intermational cooling symbol
160L 315 242 42  M16X36 110 90 10 12 37 45 417 653 15 543 286 250 350 185 5
180M 355 272 48  M16X36 110 90 10 14 425 515 447 727 15 617 300 250 350 185 5
180L 355 272 48  M16X36 110 90 10 14 425 515 447 765 15 655 300 250 350 185 5

w Http://www.dikesike.com Http://www.dikesike.com w




Y3/1IE1 B ERii Y3/IE1 COMRT:[=1::1().

DICK CISCO DICK C

222 Y3 |E1 $ASE TECHNICAL DATA >>> Y3 IE1 #HARS# TECHNICAL DATA

SPEED 3000RPM 2-POLE50HZ SPEED 1500RPM 4-POLE 50HZ

MEDE g T s TR SENE  ge T i
ms RatedOutput  ge  _ HE =~ g RACIUIN wy s mawe meew =8 me RatedOutput  se M ms R me  swws sawe weey =8
Tooe Rated "% Power Rated HiEiEdm SMEEE SmERHK  Weight Type Rated n% Power Rated HERE #EEE HESERK Weight
Speed (IE1) factor Torque Ts/Tn  Tmax/Tn Is/In kg Speed (IE1) factor Torque Ts/Tn  Tmax/Tn Is/In kg
Kw HP rpm cOSe 380 400 415 pnm Kw HP rpm cose 380 400 415  Nm

Y3-631-2 0.18 0.25 2720 65 080 053 05 048 0.61 2.2 2.2 5.5 8.2 Y3-631-4 0.12 017 1310 57.0 0.72 0.44 042 041 0.84 2.1 - ] 4.4 8.5
Y3-632-2 0.25  0.37 2720 68 0.81 069 066 063 0.96 29 2.2 5.5 8.5 Y3-632-4 0.18  0.25 1310 60.0 0.73 0.62 059 057 1.26 71 2.2 4.4 8.9
Y3-711-2 0.37 0.5 2740 70 0.81 0.99 0.94 0.91 1.26 5 9 3 9 6.1 Q6 Y3-711-4 0.25 0.37 1330 65.0 0.74 0.79 0.75 0.72 1.73 2.1 2.2 ik 11.2
¥3-712-2 0.55 0.75 2740 73 0.82 1.4 1.33 1.28 1.88 2 2 29 6.1 10.2 Y3-7T12-4 0.37 0.5 1330 67.0 0.75 1.12 1.06 1.02 2.54 2.1 2.2 8.2 11.8
¥3-802-2 1.1 15 2840 75.0 0.84 265 251 242 37 2.4 2.4 6.3 14.3 Y3-802-4 0.75 1 1390 72.1 0.76  2.08 197 1.90 5.15 2.3 2.3 6.1 14.5
AR S iy S 5 — T T - 4 i i Y3-90S-4 1.1 1.5 1390 75.0 0.77 2.89 274 264 7.56 2.3 2.4 6.3 17.3
Y3-90L-2 2.2 3 2840 79.7 085 493 468 451 7.4 2.4 2.5 6.8 21.8 i B . L Fhes e e el & £ i -
Y3-100L1-4 2.2 3 1390 79.7 0.81 517 491 474 1512 9 2.4 6.5 30.3

¥3-100L-2 3 4 2860 81.5 087 6.41 6.09 587 10 2.4 2.4 6.9 29.5
Y3-100L2-4 3 4 1410 81.5 0.82 6.81 6.47 6.24 20.32 2.5 2.5 6.5 31.5

Y3-112M-2 4 5.5 2880 83.1 0.88 829 7.88 7.59 13.26 23 2.4 7.0 35.6
Y3-112M-4 4 5.5 1410 93.1 0.82 8.91 8.46 8.16 27.09 2.4 2.4 7.0 38.0

Y3-13251-2 5.5 7.5 2900 84.7 0.88 11.2 106 103 18.11 2.2 2.3 7.2 56.5
Y3-132S-4 5.5 7.5 1435 84.7 0.83 11.9 11.3 10.9 36.6 2.3 2.4 7.0 61.5

Y3-13252-2 7.5 10 2900 86.0 0.88 15.0 143 13.8 24.7 2.3 2.4 6.9 44 1
Y3-132M-4 7.5 10 1440 86.0 0.84 157 150 14.4 4974 2.3 2.3 7.0 70.5

Y3-160M1-2 11 15 2930 87.6 0.89 21.4 203 19.6 35.85 2.2 2.3 6.8 102
Y3-160M-4 11 15 1440 87.6 0.84 227 216 20.8 72.95 2.2 2.3 6.5 115

Y3-160M2-2 15 20 2930 88.7 0.89 28.8 27.4 26.4 48.89 23 23 7.0 112
Y3-160L-4 15 20 1460 a8. 7 0.85 30.2 28.7 27.6 985.12 2.2 2.2 1.2 128

Y3-160L-2 18.5 25 2930 89.3 0.90 349 332 320 60.3 2.4 2.5 7.0 124
Y3-180M-4 18.5 25 1460 89.3 0.86 364 345 333 121 g 28 7.5 160

Y3-180M-2 22 30 2940 89.9 0.90 41.2 39.2 37.7 71.46 2.3 2.3 6.9 160
Y3-180L-4 22 30 1470 89.9 0.86 43.1 41.0 395 1429 2.2 2.3 7.2 177

Y3-200L1-2 30 40 2950 90.7 0.90 558 53.0 51.1 97.12 2.2 2.3 7.1 210
Y3-200L-4 30 40 1470 90.7 0.86 584 555 53.4 194.9 2.3 2.4 7.1 238

Y3-200L2-2 37 50 2950 91.2 0.90 68.4 650 626 119.8 2.3 2.4 7:1 222
Y3-2255-4 37 50 1470 31.2 0.87 70.8 67.2 64.8 2404 2.2 2.2 7.1 250

Y3-225M-2 45 ) 2960 91.7 0.90 827 785 757 145.2 2.3 2.5 6.8 270
Y3-225M-4 45 60 1475 91.7 0.87 857 81.4 785 291.4 2.3 2.3 6.9 270

Y3-250M-2 55 75 2965 92.1 0.90 101 957 92.2 177.2 2.1 2.2 6.8 355
Y3-250M-4 55 75 1475 92.1 0.87 104 989 953 356.1 2.1 2.9 6.8 387

Y3-280S-2 75 100 2970 92.7 0.90 137 130 125 241.2 2.3 2.3 7.1 482
Y3-280S-4 75 100 1480 92.7 0.87 141 134 129 484 2.2 2.9 7.5 498
Y3-280M-2 90 125 2970 93.0 0.91 161 153 147 289.4 2.2 2.4 7.1 552 R = mE kg e Bk wEE i obE B . . o .
Ty isane e IN kefs 43 uRl IR IR OS2 weadd =t £:3 £ ahp Y3-3155-4 110 150 1480 93.3 088 203 193 186 7098 2.2 2.2 6.9 801
Y3-315M-2 132 180 2975 93.5 0.91 235 224 216 4237 2.3 2.4 6.9 960 Y3-315M-4 132 180 1480 93.5 0.88 243 231 223 8518 21 22 6.9 395
¥3-315L1-2 160 200 2975 93.8 0.92 281 267 258 513.6 2.2 2.3 7.0 1001 Y3-315L1-4 160 200 1480 93.8 0.89 291 276 266 1032 2 2.2 6.7 957
¥3-315L2-2 200 270 2975 94.0 0.92 351 333 321 642 2.2 2.3 7.0 1080 Y3-315L2-4 200 270 1480 94.0 0.89 363 345 332 1291 24 2:9 6.9 1002
Y3-355M-2 250 340 2980 94.0 0.92 438 416 401 801.2 2.2 2.3 7.0 1850 Y3-355M-4 250 340 1490 94.0 0.90 449 426 411 1602 2.2 2.2 6.9 1660
Y3-355L-2 315 430 2980 94.0 0.92 552 524 505 1009 2.2 2.3 7.0 2200 Y3-355L-4 315 430 1490 94.0 0.90 565 537 517 2019 849 2.2 6.9 1850

@ Http://www.dikesike.com Http://www.dikesike.com @




Y3/1IE1 B ERii Y3/IE1 COMRT:[=1::1().

DICK CISCO DICK C

>>> Y3 IE1 EASE TECHNICAL DATA >>> Y3 IE1 #EARSEL TECHNICAL DATA

SPEED 1000RPM 6-POLE 50HZ SPEED 750RPM 8-POLE 50HZ

GEDE g e i i BT g e o s @

: : : Rated current : . Rated current ; :
e BeteaSiutpat | e Emf;w S A 15 EEEIE BRiE  Egmny 0 B8 me FES S | Emﬁfm SES A 15 RIS BAKE gudp 2 EE
Tope Rated % Power Rated #iE¥E #WEEE @EEHKE  Weight Type Rated n% Power Rated #iERE HIEiE #SEERK Weight
Speed (1IE1) factor Torque Ts/Tn  Tmax/Tn Is/In kg Speed (1IE1) factor Torque Ts/Tn  Tmax/Tn Is/ln kg
Kw  HP  rpm coso 380 400 415  nm Kw  HP  rpm coSo 380 400 415  Nm

Y3-711-6 0.18  0.25 850 56.0 0.66 074 0.7 0.68 1.91 1.9 2.0 4.4 9.0 Y3-801-8 0.18  0.25 645 51.0 0.61 0.88 0.84 0.8 249 1.8 1.9 3.3 11.2
Y3-712-6 0.25  0.37 850 59.0 068 095 09 087 265 1.9 2.0 4.0 9.5 Y3-802-8 025  0.37 645 54.0 0.61 115 1.1 1.06 3.48 1.8 1.9 3.3 13.0
Y¥3-801-6 0.37 0.5 885 62.0 0.7 1.3 123 119 3.93 1.9 2.0 4.7 12.3 Y3-90S-8 0.37 0.5 670 62.0 061 149 141 136 512 1.8 1.9 4.9 18.5
Y3-802-6 0.55 0.75 885 65.0 .72 1.78 1.68 1.63 5.84 1.9 i 4.7 13.5 Y3-90L-8 0.55 0.75 670 63.0 0.61 247 207 199 7.61 1.8 9 4 19 7
Y3-90L-6 1.1 1.5 910 72.9 073 314 298 287 11.54 2.0 i 5.5 20.0 V3100128 i o S50 250 HES  aaw are 34 - o " " A0:h
Y3-100L-6 1.5 2 920 75.2 0.75 4.04 3.83 3.70 15.57 2.0 2.0 6.0 29.0 PR i 3 s — Gas Rd AAR REA. SB s . . g

Y3-112M-6 2.2 3 935 T7.7 0.76 5.65 5.36 5.17 2247 2.2 2.2 6.0 38.0
Y3-132S-8 2.2 3 705 78.0 0.71 6.04 573 553 29.59 1.8 2 6 61.5

Y3-132S-6 3 4 960 79.7 0.76 7.52 7.14 6.88 29.84 2.0 2.1 6.5 59.0
Y3-132M-8 3 4 705 79.0 073 7.9 7.51 7.24 40.35 1.8 2 6 75.0

Y3-132M1-6 4 5.5 960 81.4 0.76 9.80 9.31 8.97 39.79 2.0 2.1 6.5 68.0
Y3-160M1-8 4 5.5 720 81.0 073 10.3 9.76 941 53.06 1.9 2 6 101

Y3-132M2-6 5.5 7.5 960 83.1 0.77 13.1 124 120 54.71 2.2 2.2 6.5 77.0
Y3-160M2-8 5.5 7.5 720 83.0 0.74 136 129 125 72.59 2 2 6 110

Y3-160M-6 7.5 10 970 84.7 077 174 166 16.0 73.84 2.0 2.1 6.7 105
Y3-160L-8 7.5 10 720 85.5 075 17.8 16.9 16.3 995 2 2 6 138

Y3-160L-6 11 15 970 86.4 0.78 222 211 203 108.3 2.2 2.3 6.7 140.0
Y3-180L-8 11 15 730 87.5 076 25.1 239 23 1439 2 2 6 147

Y3-180L-6 15 20 970 87.7 0.81 320 304 293 1477 2.1 2.9 6.7 170
Y3-200L-8 15 20 730 88.0 0.76 341 324 31.2 19523 2 2 6.6 o4

Y3-200L1-6 18.5 25 980 88.6 0.81 39.1 37.2 358 180.3 e 2.2 6.7 191
Y3.225S-8 18.5 25 730 90.0 076 411 39 37.6 242.02 1.9 2 6.6 227

Y3-200L2-6 22 30 980 89.2 0.83 451 428 413 2144 21 2.2 6.7 218
Y3-225M-8 22 30 730 90.5 0.78 47.4 45 434 287.81 1.9 2 6.6 250

Y3-225M-6 30 40 980 90.2 0.84 60.1 57.1 550 292.3 2.1 2.1 7.0 255
Y3-250M-8 30 40 735 91.0 079 735 634 60.2 38247 1.9 2 6.6 350

Y3-250M-6 37 50 980 90.8 086 719 683 658 3606 21 -l 7.0 358
Y3-280S-8 37 50 735 91.5 079 77.8 739 71.2 484.04 1.9 2 6.6 457

Y3-280S-6 45 60 980 91.4 0.86 B86.8 825 79.5 4385 2.0 24 7.0 475
Y3-280M-8 45 60 735 92.0 0.79 941 894 86.1 580.74 1.8 2 6.6 520

Y3-280M-6 55 75 980 91.9 0.86 106 100 96.7 536 2 1 2.2 7.0 520
Y3-3155-8 55 75 735 92.8 0.81 111 106 102 709.80 1.8 2 6.6 815

Y3-3155-6 75 100 985 92.6 0.86 143 136 131 727.2 2.1 %3 7.0 742
Y3-315M-6 90 125 985 92.9 0.86 171 162 156 872.6 2.0 2.1 6.7 815 Y3-315M-8 75 100 735 93.0 .81 15T 144 139 967.91 18 2 6.6 J06
S— - 0 - — PV — - a5 7 _— Y3-315L1-8 90 125 735 93.8 0.82 178 169 163 1161.49 1.8 2 6.6 987
Y3-315L2-6 132 180 985 93.5 0.87 246 234 226 1280 2.0 2.1 6.7 947 L e I e BeiS R SO dgE  dEdeege. = 2 s SE0
Y3-355M1-6 160 200 985 93.8 0.88 295 280 270 1551 1.9 2.0 6.7 1500 ¥3-355M1-8 132 180 740 93.7 0.82 261 248 239 1692.08 1.8 . 6.4 1700
Y3-355M2-6 200 270 985 94.0 0.88 367 349 336 1939 1.9 2.0 6.7 1500 Y3-355M2-8 160 220 740 94 .2 0.82 315 299 288 2051.00 1.8 p 6.4 1850
Y3-3155L-6 250 340 Q85 a4 .0 0.88 459 436 420 2424 1.9 20 6.7 1650 Y¥3-355L-8 200 270 740 94.5 0.83 387 368 355 2563.38 1.8 2 6.4 1930

@ Http://www.dikesike.com Http://www.dikesike.com




Y3/IE1 JOORRT::F=1=211) Y3/IE1 1B Rl

ICK CISCO DICK CISCO

>> Y3 IE1 ZEREMERT MOUNTING AND OVERALL DIMENSIONS >>> Y3 IE1 TEREMERT MOUNTING AND OVERALL DIMENSIONS

SR
fl © . -:ﬂ_.ﬂ-"'? I < i
! RS ——— a PN
S 1—=I g = <|
11 ﬂ D
. ED_EBL | 5 B @ gy |T
o off o —— .
2. . .
ED . EB P ®
ED EB ‘ L—' &
I -4 E LB
F ! 160-200 225-355
' 3 63-132
Y E|l C B
E ¢ B BB
55 L |
63-132 160-355
2.4.6 113 11 M4X12 12.5 183 194 115 140
71 24,6 138 119 14 M5X12 30 25 25 5 11 16 199 242 212 130 110 160 10 3.5
80 2.46,8 155.4 131 19 MEX16 40 30 5 8 155 215 231 284 244 165 130 200 12 3.5
P s B 214-5. E_ :
5 > 4.6 - oy YGk - rroem e hE P a0L : 175.4 148 24 MBX19 50 40 5 8 20 27 248 333 283 165 130 200 12 3.5
80 2.4.6,8 125 34 160 155.4 131 100 130 50 19  MEX16 40 30 5 6 155 215 80 10 4-010 284 112M 2.4.6,8 219.4 183 28 M10x22 60 50 5 8 24 31 308 304 334 215 180 250 145 4
905 2.4.6.8 140 36 176 1754 148 100 130 56 24 M818 50 40 5 8§ 20 27 90 12 4-®10 308 1328 2.4.6.8 258.4 203 38  M12X28 80 65 7.5 10 33 41 353 470 390 265 230 300 145 4
L £4.5,8 140 36 176 1754 146 125 156 o6 24 MBX19 50 40 56 8 20 &7 90 12 4-910 333 132M 4,68 258.4 203 38 M12X28 80 65 7.5 10 33 41 353 508 428 265 230 300 145 4
100L 2,468 160 40 200 1954 162 140 176 63 28 WM10X22 60 50 5 B 24 31 100 14 4-©12 380 G 2468 s i e Caaan - - S o B o o P s - el e s
112M 2 4.6,8 190 45 226 2194 183 140 180 70 28 M10X22 60 50 5 8 24 31 112 15 4-012 394
160L 2 468 314 251 42  M16X36 110 90 10 12 37 45 426 652 542 300 250 350 18.5 5
1325 2468 216 55 262 2584 203 140 200 89 38 M12X28 80 65 7.5 10 33 41 132 18 4-112 470
132M 46,8 216 55 262 2584 203 178 238 B9 38 M12X28 80 65 7.5 10 33 41 132 18 4-012 508 180M 24,8 Job 267 48 Mieade 110 B0 10 14 425 V1o 4445 6BD 270 00 0 B0 185 9
160M 2.4.6,8 254 65 314 314 251 210 260 108 42 M16X36 110 90 10 12 37 45 160 20 4-114.5 608 180L 4,6,8 dao 267 48 MI1GX36 1o 20 10 14 425 919 44405 726 616 300 220 400 18.5 5
160L 2.4.6.8 254 65 314 314 251 254 304 108 42 WMI16X36 110 90 10 12 37 45 160 20 4-114.5 652 200L 2.4.6,8 397 299 55  M20X42 110 100 5 16 49 59 499 771 661 350 300 400 185 5
180M 2.4.8 279 70 349 355 287 241 AN 121 48 M16X36 110 90 10 14 425 B51.5 180 22 4-1145 GBE8 2255 4.8 448 122 80 M20X42 140 125 T 5 18 53 64 547 824 B84 400 150 450 18.5 5
200L 2468 318 70 388 397 299 305 369 133 55 M20X42 110 100 5 16 49 56 200 25 4-®165 771
225M 468 446 322 B0  M20X42 140 125 7.5 18 53 B4 547 849 709 400 350 450 18.5 5
2255 4.8 356 75 431 446 322 386 368 149 B0  M20X42 140 125 7.5 18 53 64 225 28 4-118.5 824 ,
225M 2 356 75 431 446 322 311 393 149 55 M20X42 110 100 5 16 49 59 225 28 4-018.5 B19 e ) [ (SR e ) b ) R i o o il 5 e e e )
225M 46,8 356 75 431 446 322 311 393 149 60 M20X42 140 125 7.5 18 53 64 225 28 4-918.5 849 250M 46,8 485 358 65  M20x4z 140 126 7.5 18 o8 68 633 910 770 200 450 200  18.5 5
250M 2 406 20 484 485 358 349 445 168 60 M20X42 140 125 7.5 18 53 64 250 30 4-224 910 2805 2 547 387 65  M20X42 140 126 7.5 18 58 69 662 982 842 500 450 550 18.5 5
250M 4,6,8 406 80 484 485 358 349 445 168 65 M20X42? 140 125 7.5 18 58 69 250 30 4-d24 910 280S 4.6.8 547 387 75 M20X42 140 125 7.5 20 675 795 662 982 8472 500 450 550 18.5 5
280S 46,8 457 85 542 547 387 368 485 190 75 M20X42 140 125 7.5 20 67.5 795 280 35 4-024 Q82 — 468 R B CWE. WHT ERE  H6E  HAE — i > e P :
280M 2 457 85 542 547 387 419 536 190 65 M20X42 140 125 7.5 18 58 69 280 35 4-124 1033
1158 2 620 527 65 M20X42 140 125 7.5 18 58 59 857 1178 1038 600 550 660 24 6
280M 4,6,8 457 85 542 547 387 419 536 190 75 M20X42 140 125 7.5 20 675 795 280 35 4-424 1033
3158 2 508 120 628 620 527 4068 570 216 65 M20X42 140 125 7.5 18 58 69 315 45 4-028 1178 a8 AEN00 BAN G RO Mokl W BN 8 22 Rl By BEF  1a0W e SW t5ab 88D 24 0 B
3155 4,6,8 10 508 120 628 620 527 406 570 216 80 M20X42 170 160 5 22 71 85 315 45 4-128 1208 315M = 620 527 65  M20X42 140 126 7.5 18 58 69 857 1288 1148 600 550 660 24 6
315M 2 508 120 628 620 527 457 680 216 65 M20X42 140 125 7.5 18 58 69 315 45 4-028 1288 315M  4.6,8,10 620 527 80  M20X42 170 160 5 22 71 85 857 1318 1148 600 550 660 24 6
315M 4,6,8,10 508 120 628 620 527 457 680 216 80 M20X42 170 160 s 22 M 85 315 45 4-928 1318 315L ? 620 527 65 M20X42 140 125 7.5 18 58 69 857 1288 1148 600 550 660 24 6
4,6,8,10 1 7 1 M20X42 170 1 71 1 4 4-4 131
i A o B A SO O 5 st LT e i B ? O 355M 2 608 642 75  M20X50 140 130 5 20 675 795 1042 1486 1346 740 680 800 24 &
355M 2 610 116 726 698 642 560 750 254 75 M20X50 140 130 5 20 675 795 355 52 6-928 1486 L6810
355M 4.6,8,10 10 118 726 GO9B 642 560 750 254 95 M20X50 170 160 5 25 86 100 355 52 6-928 1518 i Gl i T O o i o #2 i e dse  iwle 1948 A9 ik b s i
355L 2 610 116 726 698 642 630 750 254 75 M20X50 140 130 5 20 675 795 355 52 5-©28 1486 I5sL . 698 642 75 M20X50 140 130 5 20 675 795 1042 1486 1346 740 68O 800 24 6
355L 46,810 610 116 726 698 642 B30 750 254 95 M20X50 170 160 5 25 86 100 1355 52 6-028 1516 355L  4,6,8,10 698 642 85  M20X50 170 160 5 25 86 100 1042 1516 1346 740 680 800 24 f

Http://www.dikesike.com

Http://www.dikesike.com %




Y3/IE1 SOMRI::[=1::11] Y3/IE1 SOMRT:[=1: 11

S L P e A ]
LI |-::: I._. . L |'._. ":., :._. | .r::- | |._."

>>> Y3 IE1 ZERIMERT MOUNTING AND OVERALL DIMENSIONS

“imB3s We3-3ss IM V1 H160-355

Ga DH
259
- -
00 | S
¥ 1 T I ¥ E !
ma — ’ i ‘ AC
ED, _EB : & . |
ED EH..I | ale —\ [ | E“f i
md@—%—'——ﬁ - i i
| ( N ®)< 1 ;
I = — T___...-EI‘_' . ]-I 1 i . S g = ; N
'_ﬁ - | L1 ¢ : B | K | i | (a ]
—TTETc¢ B g | & ] N C-L-} - E
BE AR
LB LB AB "'f"' il
. L L |
160-200 225-355 © i
63-132 Ol [T
Y
63 246 100 30 130 120 113 80 110 40 11 M4X12 23 16 35 4 B85 125 63 8 407 217 194 115 95 140 10 3 B | e | w 160-200 225-355
71 246 112 32 144 136 119 90 120 45 14 M5X12 30 25 2.5 1 16 71 8 407 242 212 130 110 160 10 E
80 2468 125 34 160 1554 131 100 130 50 19 M6X16 40 30 15.5 21.5 80 10 4-010 284 244 165 130 200 12 N
P
90S 24,68 140 36 176 175.4 148 100 130 56 24 M819 50 40 20 27 90 12 4-010 308 258 165 130 200 12

90L 2,468 140 36 176 1754 148 125 155 56 24 M8X19 50 40
100L 24,68 160 40 200 195.4 162 140 176 63 28 M10X22 60 50
112M 2468 190 45 226 219.4 183 140 180 70 28 M10X22 60 50 5

20 27 90 12 4910 333 283 165 130 200 12
24 31 100 14 4-912 380 320 215 180 250 145
24 31 12 15 4-¢12 384 334 215 180 250 14.5

th +h on h
2 8 o (88 & | &

670 300

18.5 5

314 10 12 37 45 426 608 498

251 42  M16X36 110 a0

250 350

160L 2,468 314 251 42 MI16X36 110 90 10 12 37 45 426 652 542 714 300 250 350 185 5

160M 2,468

1325 2468 216 55 262 258.4 203 140 200 89 38 M12X28 80 65 7.5 10 33 41 132 18 4-012 470 390 265 230 300 145
132M 46,8 216 55 262 258.4 203 178 238 89 38 M12x28 80 65 7.5 10 33 41 132 18 4-¢12 508 428 265 230 300 14.5
160M 2,468 254 65 314 314 251 210 260 108 42 M16X36 110 90 10 12 37 45 160 20 4-¢145 608 498 300 250 350 185

180M ? 4.8 355 267 48 M16X36 110 90 10 14 425 515 4445 688 578 760 300 250 350 185 &
160L 24,68 254 65 314 314 251 254 304 108 42 M16X36 110 90 10 12 37 45 160 20 4-014.5 652 542 300 250 350 18.5

180L 468 355 267 48 MI16X36 110 90 10 14 425 51.5 4445 726 516 798 300 250 350 185 5
180M 2,48 279 70 349 355 267 241 311 121 48 M16X36 110 90 10 14 42.5 51.5 180 22 49145 688 578 300 250 350 1B.5

200L 2 4 6B 397 299 55 M20X42 110 100 5 16 49 59 499 771 661 B45 350 300 400 185 5
180L 4,68 279 70 349 355 267 279 349 121 48 MIG6X36 110 90 10 14 42.5 51.5 180 22 4-0145 726 616 300 250 350 18.5

2258 4.8 446 322 60 M20X42 140 125 75 18 53 64 547 824 584 BO98 400 350 450 185 5
200L 24,68 318 70 388 397 299 305 369 133 55 M20X42 110 100 5 16 49 59 200 25 4-0165 771 661 350 300 400 1B.5
2955 4,8 356 75 431 446 322 386 368 149 60 M20X42 140 125 7.5 18 53 B4 225 28 40185 824 B84 400 350 450 18.5 £E0W 2 199 S5 N NedARe YUY 100 v e 43 g i s £ R A0 e9n A3 Y183 3
225M 2 356 75 431 446 322 311 393 149 55 M20X42 110 100 5 16 49 59 225 28 4.0185 819 709 400 350 450 18.5 225M 468 446 322 60 M20x42 140 125 7.5 18 53 64 547 B840 709 893 400 350 450 185 S
226M 4,68 356 75 431 446 322 311 393 149 60 M20X42 140 125 7.5 18 53 64 225 28 40185 849 709 400 350 450 18.5 250M E 485 358 60 M20X42 140 125 75 18 53 64 633 910 770 986 500 450 550 185 5
250M 2 406 B0 484 485 358 349 445 168 60 M20X42 140 125 7.5 18 53 64 250 30 4-024 910 770 500 450 6550 18.5 250M 46,8 485 358 65 M20x42 140 126 7.5 18 58 69 633 210 770 986 S00 450 550 185 5
250M 4,68 406 BO 48B4 485 358 349 445 168 65 M2Z0X4? 140 125 7.5 18 58 69 250 30 4-024 910 770 500 450 550 18.5 2805 2 547 387 65 M2Z0X42 140 125 7.5 18 58 69 662 982 Bd2 1058 500 450 550 185 5
2805 2 457 B85 542 547 387 368 485 190 65 M20X42 140 125 7.5 18 58 69 280 35 4-024 982 B842 500 450 550 1B.5 2808 46,8 547 387 75 M20X42 140 125 7.5 20 G675 795 6B2 982 842 1058 500 450 550 185 5
2805 4,68 457 85 542 547 387 368 485 190 75 M20X42 140 125 7.5 20 67.5 795 280 35 4-924 982 842 500 450 550 185 280M v 547 487 65 M20X42 140 125 7.5 18 58 69 662 1033 893 1109 500 450 550 185 5
280M 2 457 85 542 547 387 419 536 190 65 M20X42 140 125 7.5 18 58 69 280 35 4-024 1033 893 500 450 550 18.5 280M 468 547 387 75 M20X42 140 125 75 20 675 795 662 1033 893 1109 500 450 550 185 5
280M 4,68 457 85 542 547 387 419 536 190 75 M20X42 140 125 7.5 20 67.5 79.5 280 35 4-024 1033 893 500 450 550 18.5 $38% 5 L0 RYP BB NDOREE: Al DR CRB- % WS an GRY: YR quss: AAEE: ESh BAD  ARD. i "
3155 2 508 120 628 620 527 406 570 216 65 M20X42 140 125 7.5 18 58 69 315 45 4-028 1178 1038 600 550 660 24

3158  4,56,8,10 620 527 80 M20X42 170 180 5 22 71 85 B57 1208 1038 1280 800 550 680 24 B
3158 4.6,8,10 508 120 628 620 527 406 570 216 BO M20%42? 170 160 5 22 71 85 315 45 4.028 1208 1038 600 550 660 24

315M 2 620 527 65 M20X42 140 125 7.5 18 58 69 B57 1288 1148 1369 600 550 660 24 6
315M 2 508 120 628 B20 527 457 B80 216 65 M20X42 140 125 7.5 18 58 69 315 45 4-.028 1288 1148 600 550 660 24

315M  4,6,8,10 620 527 80 M20X42 170 160 5 22 71 85 B57 1318 1148 1399 600 550 660 24 6
315M 4.6.8.10 508 120 628 620 527 457 680 216 80 M20X42 170 160 5 22 71 85 315 45 4-028 1318 1148 600 550 660 24

315L 2 620 527 65 M20X42 140 125 7.5 18 58 69 B57 1288 1148 1369 600 550 660 24 6

315L 2 508 120 628 620 527 508 680 216 65 M20X42 140 125 7.5 18 B8 69 315 45 4-028 1288 1148 600 550 660 247

15L 4,6,810 2 27 M20X42 17 16 22 71 8 7 1 114 1 BEB0 4 B
315L 4.,6,8.10 508 120 628 620 527 508 €80 216 B0 M20X42 170 160 &5 22 71 85 315 45 4-128 1318 1148 600 550 660 24 b HM . i ? . : . g o i % S S e *

355M 2 698 642 75 M20X50 140 130 5 20 B67.5 795 1042 1486 1346 1567 740 680 800 24 ]

355M 2 610 116 726 698 642 560 750 254 75 M20X50 140 130 20 67.5 79.5 355 52 6-028 1486 1346 740 680 800 24

o5 AR 100 355 &2 &.098 1518 1348 740 880 RGO 24 355M 4,680 698 642 95 M24X50 170 160 5 25 86 100 1042 1516 1346 1597 740 680 800 24
20 67.5 79.5 355 52 6-928 1486 1346 740 680 800 24

25 86 100 355 52 6-028 1516 1346 V40 680 800 24

355M 4,6,8.10 610 116 726 698 642 560 750 254 95 M20X50 170 160

355L 2 610 116 726 698 642 630 750 254 735 M20X50 140 130
355L 4.6,8.10 610 116 726 698 642 630 750 254 95 M20X50 170 160

355L 2 698 642 75 M20xX30 140 130 2 20  B7.5 9.5 1042 1486 1346 1567 740 680 800 24

mmmmmmmmmmmmmmmmmmmmmmmmhnhhﬁﬁﬁi‘;

th (dm Wn | En
o o

355L 46,810 698 642 95 M24X50 170 160 5 25 86 100 1042 1516 1346 1597 740 680 800 24

Http://www.dikesike.com %

Http://www.dikesike.com




